F1E HBERUIBNARTYMR—ILEFIEXRSE FEIOVIHERE—E TFDE
ZF F170vY ZF £1370vH TF §2570v%
1 FEEE 26 55 RN PG NG K 76 37 KR 1 [ GKA 51 — 29 KRx®
2 FEMPE 54 86 HH 1[E#; BEY==7 55 30 HRH 1 (] Fri o 113 — 13 mifE=
3 FEH 96 27 m\I% 3 KIERM 49 63 K 3k KM&R 12 — 69 i =
R R 5T 56  WEY2=7| B GKA 15 — 145 Jyld
ZF F270vY TF F£1470vH ZF F2670vY
e EBEE 22 89  fifAk— 1 @)ide 21 76 TRH 1 e8P 55 — 47 {FEMEIY
=g HFE 79 39  #HH 1Al B — 95 22 HE 2 FEMEN 44 — 46 AR
3k EBHME 28 127 #HH 3 WAL 43 35 HE 3 HIR 42 — 65 LB
wels BEAR— 46 70  HTE ws FRHE 65 41 PR —
ZF F3TAvY LZF F1570vY TF F2717099
1EE HT S 5= 69 33 HERSTROL ) 1AMk wE T8 13 HH 1= KHE 86 — 9 JERANUY
LE HIFART 38 105 &I el &2 10 100 A | 1EEE AAFFEE 44 — 79 dbid
3k FEH L 47 62  FEEANT 3R HHE 52 18 B 3k FEARDU 46 — 48 RAHEHIR
By B e 48 77 VN 58 43 RiZErRdr ) B KHEVE 78 — 61 Ui
F F4TOYY TF £1670OvH TF F2870v4
1 HEFE 60 50 & e 1 Z%xBE 83 36 RSRAE 1EE fEAR= 77 — 33 ok
2 BME 14 140 NIIJIMA 2 KR 37 — 40 ElE 1[EEE FOUNTAIN 63 — 47  “CW%E
3 NIJIMA 125 18 HEE W 37 4 SZxB 3k TR 44 — 66 AEER
wpE BEMK= 57 — 65  FOUNTAIN
F HF5IOvY TF $£1770v5H TF 297095
1 % 98 0 EES NG WA 50 59  LH— 1 3 52 — 46 BAFND
2 HE& 30 80  HEXKE | 1Hlk HHE 35 69  H 2 BAfD 52 — 27 AT
3 BEKRME 22 64 Pl 3 WA 17 55 5 3 WET 14 — 41 HE
Wy Zh— 61 41 Wl
ZF F6JOvY ¥ $£1870vH TF F£3070v5
JEIL B 55 66  YAME 1 HHM 67 24 EE IELES JIUN 44 — 68  EEFYL
1 EA 55 — 22 KE-HiA 2 EME 61 — 45  FEMIL | 1 sxe=72 0 59 — 57 HPE
3k B 70 — 44 K EeHHA 3 EERMIE 64 79 EHE 3k JIUIN 45 — 71 »HT°x
s WEEYW 57 41 EF s EEPE 33 — 59 FAA=TR
xF HF1JOvY ZF HF1970vY ¥ F£3170OvH
LElEg R 37 106 KD PIRANHANS 1 Bk 60 45 N EL DS 52 — M BB
EH FEME T 31 — 78 KK 2 KEF 63 — 12 AUMEL | 1mE BRSO 48 — 46 K
3k AR 129 2 P8R — 3 HiEt 6 123 BB 3k AR 4T — 12 L
DB KD PIRANHANS 144 16 KHEE Pk Py s 35 — 55 IR
ZF HF8IOVY LZF F20709Y ¥ $3270v9
1 KM 57 68 FHT L[]k B 47 — 92 FE4E 1 [m] e 38 — 45 KA
2 AL 68 76 T 1[A] 4 FEE 42 — 62 AEE 1k RORPE 118 — 15 Eh
3 FH 41 63  KHE 3k HE 72 32 M 3k B 80 — 19 F
TR FZE 89 — 51 AE s WA 36 — 57  KRFE
ZF F970vY TF £21709%H ZF %F3370vY
I AR 33 — 83 Zkdh | KFZZ7 40 — 99 HEIR el R 80 — 31
I EE- 22 — 83 m 9 MmR 92 — 32 BEAK 1 [T Bl 20 — 120 A
3k EAEF 109 14 Eils— 3 fEM T 24 123 KWr77 3k BRE 53 — 35 B
s Adh 50 — 33 Ek e U 38 — 43 HfA
¥ F1070vH ¥ F£227099 ¥ $£3470vH
1 [ Bg J\iE 80 23 JH L[]k = 49 78 KH 1 kMt 37 — 64 Tz
IEH RN 102 — 17 B Ll (b= 101 — 17 A6 L 2 ZzZk 63 — 54 FRRER
3k B 57 36 HEE 3k = 87 24 ARG 3 BEmME 90 — 34 KM
et J\IE 53 64 RGNS R KA 41 67  GHEMR =
ZF F117avH ¥ $£2370v%H TF 357095
1 FE 61 39 HhierRgE | 1A THE 87 24 JNHE 1 [ A#E 69 — 41 KA
2 erRsE 23 76 F)Il 1 (=] Bk K 31 61 B 1mEe  BEEBR 35 — 59 JRAK
3 ¥l 57 56 TR 3k RV 18 — 92 K 3k Ry 43 — 47 BEER
s B 19 85 &R e A#E 45 — 42 FRIK
ZF F1270v9 LF F24709Y ZF F3670vY
1[m] HET 20 98 % 1A Bi¥y 57 62 ARG 1 El 10 — 153 i —
1[m] ¥ K¥E 145 4 B4 el LR 42 64  K#H 2 HifE— 136 — 46  /NEF
3Pk BT 68 47T B4 KRS 5% 64 57 BtA 3 B 71 — 60 &l
e SRR 40 74 K¥E s AiEHR 38 51 Kifl






